||||||||||||||||||

{ i
AEEZII3AL0)5eT
L woo RCH0sEAR 021
Abn] B CEBNRTEAS
o R
OaMPa ] BUOME LY A3
% s él?(“??%%h F‘“

i W10
ZIOOOm‘gn @:WA o

10° X1 - W |
B4 = 1007 Pa= | MPa. A=Ga 5 A soom
OaMPa] = W[N]l o
A b RN B TS
1B ) 6W52§% ~[T000 [N) m %no’m
— a , , , :
A%?W% )éaotl LIERL M 80 é% 8
= T =~ 600 11— 30
iy o e HE
B WZ=4kv]=[4000]IN] Mg 19!
6a=S0[MPal |
A= VM/OO@%%J‘
Non =50 800y gy




I
L33
Di@ﬁ@f%tﬁt‘i}%fiﬂﬁmm%‘ﬁi
A-WXT - Wx4 Al <A
Oa. 3 Xba 36&5 > Mon
A3 W= 4[kN] Z[4000] [N
(zaiéArO[MP - ;]
1 M%Ofiﬁﬁf
A 4 - W — 4X4000_fgg\gq@m§

A =

atas  SA60

WA MHES(T3LL 024

c IRV NI REEL AT EIFEwC
SRRy LA

 XOKLEPASAILE AN )
\\AVN] : ﬁ/{g’%ﬁ i

W




M) Ws r)[kN]-I_DQQ__'N
y — [Tooox4
J%x@n = TR 8

P18 Fﬁly §([1)<g‘}’)]
~ a
AR
L0000 —
A =350 ~To0- 133

M16E z}’g»\

e R  ms s o = = o e phy e s ST PR TRy e ¥ 4




